
 

 

Coach M’s Playing with Imbalances Puzzle Sheet 

 

Coach M’s Tip:  If a puzzle position is proving too difficult, then set this position up 

on a physical chess board.  After you’ve formulated your solutions for each 

position, you can check your work by setting up the game position in an analysis 

board in chess.com and then switching on the chess engine.    

 

1.  In this imbalanced Semi-Slav Botvinnik variation, black extricates himself from 

this seemingly gloomy position how? 

 

(Solutions in the Appendix) 

 

 



 

 

2.  Here hxN is the computer-approved continuation for black leading to a 

complicated and imbalanced game.  However, black may also try the rather 

chaotic “Alatortsev” variation characterized by the move Nd4 in the game 

position below.  After the Nd4 move, does white retain an edge with the simple 

retreat of the knight from g5 back to f3? 

 

 

 

 

 

 

 



 

 

3.  The Alatortsev system is very much “out of fashion” due to an alternative 

approach which white can play in this position.  Improve on the retreating move 

Nf3…  How to take the game to black? 

 

 

 

 

 

 

 

 

 



 

 

4.  In the main line of the Alatortsev system, white has played the thematic Nxf7 

followed by capture of the rook on h8 (see below).   

 

 

Black’s position is objectively lost yet this highly-imbalanced variation is full of 

tricks and traps.  I.E.  How would you defend the white side here? 

 

 



 

 

5.  In this sharp line of the Slav defense, choose between Nxe, Bxe, BxN, and Qa5.  

Only one of these moves is adequate to preserve a dynamic balance.   

 

 

 

 

 

 

 

 

 



 

 

6.  Following the main line of this sharp Slav defense variation, white must defend 

against the big threat of a double-capture on c3.  How would you do this?  Choose 

between Qc2, Bd2, Be3, and Qf3.  Which of these moves is NOT playable?  Which 

ones are good enough for equality?  Which one maintains an edge for white? 

 

(See the appendix for the solution) 

 

 

 

 

 

 

 



 

 

7.  The following position was from an online rapid game that Coach M played 

against the former World #6 player, GM Pavel Eljanov (UKR).  Coach M as white 

has N+B vs R+p.  How would you recapture on e3? 

 

(See the appendix for the solution) 

 

 

 

 

 

 

 



 

 

8.  Later in the game Coach M vs GM Pavel Eljanov…In such imbalanced 

middlegame positions, with two minors against a rook and pawn, it is essential 

that the player with the two minor pieces gets coordination of his minor pieces.  If 

this can be done, then the minors can often outplay the rook and pawn (at least 

this is true in most middlegames).   

How would you coordinate your minor pieces here?   

 

 

  

 

 

 

 



 

 

9.  Later in the Coach M vs GM Pavel Eljanov game…White is in the ascendency in 

this imbalanced middlegame due to his well-coordinated minor pieces.   

Explain why Nf3? fails then and give (2) alternatives which maintain the edge.   

 

(see the appendix for solutions) 

 

 

 

 

 

 

 



 

 

10.  The tables have been completely turned in the game Coach M vs GM Pavel 

Eljanov.  Black is winning convincingly…   

Is RxN a convincing solution?  If not, what would you play? 

 

 

 

 

 

 

 

 

 



 

 

Appendix: 

1. h6 followed by g5 is the only way… 

2. the retreat Nf3 (after the Alatortsev move Nd4) is good for white and leads to a 

promising advantage.  That said, there is a better move… 

3.  White should play Nxf7! here.  Though tricky, white is objectively winning after 

this continuation. 

4.  Both Qd2 and a3 are completely winning for white.  Hence the Alatortsev 

variation is in the dust bin of chess openings at the highest levels of chess. 

   

5.  After Bxe, black is very much in the game with (3) pawns for the sacrificed 

minor piece.   

6.  Solution.  The move Bd2 is the only continuation leading to a white edge.  Qc2?  

is not a playable continuation.  Be3 and Qf3 are good for equality but no better. 

 

7. fxe! and white is considerably better in this complicated middlegame. 



 

 

 

 

 



 

 

8.  Ba6! begins turning the screw. 

9. Nf3? loses to b5! trapping the bishop.  One must never “go to sleep” against a 

strong player.  Opportunities rarely present themselves to take down strong 

GMs… 

10. RxN (simplification attempt) is better but squanders the overwhelming edge 

that black has.  Far more convincing is a5! as was played in the game.  After Nxb, 

axb!, NxR, bxN, white cannot survive long.   


